DDE (C84518/5018

(apT.CS4318 / CS83018)

DYNAMIC DR.’VE EQUIPMENT

Page 1

| W
=
-
0
W
| -
(1))
o
£l &
E
2 |
5 | 2
=
0
-
]
Py
s
T
j -
il B
| o
E.m
E |l w
=3
o | @
v |
= | "G
™ |
vl 3
.m.m
S 1o
Qo | <
= | w

DYNAMIC DRIVE EQUIPMENT, USA




Ne ApTikyn Haumenonauite Kon-no | Ne ApTitkys Hainenosaniie Kon-po
1 451801001 |LiunuHagp 943 1 24 451801024 LUnunbka kpenneHus wuHbl M8*42 2
451801011 |Uunuuap 945 1 25 451801025 LLiTyuep vmnynbCHOro KkaHana 1
451801012 |Lunungp 045.2 1 26 451801026 Bydcdep kapTepa npasbiii 1
2 451801002 |lMpoknagka Tennonaonaropa 1 27 451801027 Bydep kapTepa nesbli 1
3 451801003 |TennousonATop 1 28 451801028 [poknaaka kapTepa 1
4 451801004 |BuHT M5x14 2 29 451801029 BuHt M5x30 5
5 451801005 |BcraBka KoneHa pe3vHOBOrO 1 30 4511801030 mMnynbcHbIA WnaHr 1
6 451801006 |Cronka kapbopartopa 1 31 451801031 3axum MMnNynNbCHOro WnaHra 1
7 451801007 |BuHT M5x14 2 32 451801032 NaonsaTop 1
8 451801008 |PnaHey kapbiopatopa 1 33 451801033 [MopweHs 343 1
9 451801009 |MNpoknaaka kapbiopaTopa 1 451801133 MNopweHb P45 1
10 451801010 |lpoknaaka uMnuHApa 1 451801233 [MoplieHs $45.2 1
11 451801011  |BuHT M5x20 4 34 451801034 Konbuo nopwHesoe @43 2
12 451801012 |BonT kpenneHus rnywutens M5x84 2 451801134 KonbLo nopwHesoe @45 2
13 451801013 |laika M5 2 451801234 Koneuo nopwHesoe @¢45.2 2
14 451801014 |ImywuTens 1 35 451801035 MNaney nopluHa @43 1
15 451801015 |BuHT M5%12 2 451801135 Maney nopwHa P45 1
16 451801016 |lpoknaaka rnywuTens 1 451801235 MNaneuy noplHa ©45.2 1
17 451801017 |Croiika rnywmrens 1 36 451801036 KonbLo cTonopHoe nansua 2
18 451801018 Kaptep B cbope 1 37 451801037 [MogwunHuk uronb4yaTteit nansua K111512,5 1
19 451801019 |WrudT @5x8 3 38 451801038 LWanba noaumnHuka nansLa 2
20 451801020 |lMoawwunHuk koneHsana 6202/P6 2 39 451801039 KoneHean 1
21 451801021 |Konbuo ctonopHoe @35 1 40 451801040 LLnoHka maxoBuka 3*10*3,7 1
22 451801022 |CanbHuKk koneHeana 15*35%4,5 1 41 451801041 KapTtep neeas NonoBnHKa 1
23 451801023 CanbHuk koneHsana 15*28,4,5 1 42 451801042 KapTep npasasi nONOBUHKA 1




o

TTHTFNTTTHT T TN TRl MTTHT T T

TT ATTTTT MTTT THiT TT TaT TiT TiT TiT T TaT TOWT T TiT

3
0 it

g

DYHAMIC DRIVE EQUIPMENT

DDE (CS4518/5018

(apT.CS4518 / CS5018)

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTukyn Hanmerosanie Kon-no | Ne ApTHEYA Haunmenongine Kon-so
4 451802001 |[Maxosuk B cbope 1 18 381602014 Bbikno4aTenb 3aXuraHus 1
2 451802002 |lavka maxosuka M8*1 1 19 381601069 Ceeua 3axuraHua 1
3 451802003 |BuHT KpenneHusi cobaykn 2 20 451802020 Crparep B cbope (BknovaeT 21-30,32) 1
4 451802004 |Cobauka maxoBuKa 2 21 451802021 Kpbilwka cTapTepa 1
5 451802005 |MMpyxwHa cobavkn 2 29 451802022 HanpasnAlLas BUHTOB 1
6 451802006 |BuHt 5*20 2 23 451802023 BcraBka nog WHyp craprepa 1
7 451802007 |WaonsaTop konnauyka 1 24 451802024 LLHyp cTapTepa 1
8 451802008 |MarHeTo B cbope ( eknioyaer 9-10) 1 25 451802025 Pyuka crapTepa 1
9 451802009 |Konna4ek cee4HOM 1 26 451802026 [py»kuHa cTapTepa 1
10 451802010 |lpyxuHa cBeYyHOro Konnayka 1 27 451802027 BapabaH cTaptepa 1
11 451802011 |MarHeTo +mMaxoBuK 1 28 451802028 lMpyxuHa xpanoeuka bapabana crapTepa 1
12 451802012 |BuHT 4*8 2 29 451802029 BapabaH ctapTepa(xpanosuk) 1
13 | 451802013 |MnactuHa canbHWka 1 30 451802030 BuHT GapabaHa craptepa 1
14 451802014 |Koxyx Kpbinb4aTKu 1 31 451802031 BUHT kpenneHus KpLILWKKY cTapTepa 4
15 451802015 |l1poBsoa 1 32 451802031 Hakneika 1
16 | 451802016 [Buwt 510 1 |334| 451802033  [Wopt-6nok (CS4518 d-43) 1
47 | 451802017 [Mposoa 1 |332| 451802034  |[lLopr-6nok (CS5018 d-45) 1




DYNA MIC DRIVE EQUIFMENT

DDE (CS4518/5018
(apT.CS4518 / CS5018)

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTikyn Hansmenosanie Kon-so | Ne ApTikyn Hausenonaie Koa-so
1 451803001 |Py4ka BepxHaa gyra 1 13 451803013 BWHT nosuTens uenu 5*14 1
2 451802002 |BuHT 5*16 1 14 451803014 Kypok rasa 1
3 451803003 |3arnywka amopTusarTopa 5 15 451803015 [MpyU1Ha KypKa rasa 1
4 451803004 |BuHT cneyuancHblil 5*14 2 16 451803016 LLTugpT 6*30 1
5 451803005 |AmopTusaTop peauHosbln (pydku Bak) 2 17 451803017 Pbiyar 6nokupoBku rasa 1
6 451803006 |OcHoBaHWe amopTM3aTopa nepegHero Npasoro 1 18 451803018 Haknagka BepxHsia pyyka bak 1
7 451803007 |AmopTuM3aTop nepeaHui npasblid (NPY)XUHA) 1 19 451803019 Pyuka sagHsas 6ak ( nycran) 1
8 451803008 |Pyu4ka sagHsas 6ak sxknoyaer (11,14-22,24) 1 20 451803020 3a)XXuM Knioda CBeYHOro 1
9 451803009 |BuHT 5*14 8 21 451803021 NpyKMHa 3axKnMa KnioYa cBeYHoro 1
10 451803010 |AmoTpu3aTop pe3uHOBbLIN 3 22 451803022 BuHT 3*16 2
11 451803011  |Oamchbep baka 1 23 451803023 Knto4 ceeyHoi 1
12 451803012 |OTboMHUK Lienn 1 24 451803024 Haknaaka py4kv 3agHen 1




DDE (C84518/5018

Dynamc Drve Equiement (ApmSadola dCmalll 5)
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA Page 4




Ne ApTHEYS Hausmenonanne Kon-no | Ne Apritkyn Haumenosanie Kon-Bo
1 451804001 |Oednexrop B c6ope ( Bknwovaer 2,9) 1 16 451804016 BuHT cToitku B/ch 5*42 1
2 451804002 |YnnoTHeHve aednexkropa 1 17 451804017 [amchep kapbiopaTopa 1
3 451804003 |BuHT Kpennerus aednekropa 5*16 3 18 451804018 BuHT kpenneHus kapObiopaTtopa 5*50 2
4 451804004 |Hakneuka 1 19 451804019 Pbivar ¢03ayLUHON 3aCNOHKU 1
5 451804005 |Kpbilka Bo3gylHoro hunbTpa (BKMAKOYaeT 6,7) 1 20 451804020 YnnoTHeHue pblyara Bo3ayLWHOW 3aCNOHKK : I
6 451804006 |lavika Gapawek KpenneHus Kpellwkyn unbTpa 1 21 451804021 Oamdbep peidara 1
7 451804007 |Konbuo raiikv Gapaluka 1 22

8 451804008 |BuHT 5*20 2 23 451804023 KpoHLwTeinH 1
9 451804009 |dednekTop ( nycToi) 1 24 451804024 YnnoTHeHue canyHa 6eHaobaka 1
10 451804010 |Crolika Bo3ayLuHoro cpunbTpa 1 25 451804025 LLinaHr TonnueHbIA 1
11 451804011 |Wanba 1 5 2 26 451804026 OUNbLTP TONNUBHbLINA 1
12 451804012 |dunbTp BO3ayLWHbIA 4518/5018 1 27 451804027 [pobka 6eHaobaka (nycrasn) 1
13 451804013 |Konbuo ynnoTtHutensHoe Bl 1 28 4518040238 Mpo6ka 6eHaobaka B cbope ( Bknoyaet 27,29) 1
14 451804014 |KapbiopaTop 1 29 451804029 Konbuo ynnTHuTensHoe npobku 6/6axa 1
15 451804015 |Hanpaensiowas pes. 1 30 451804030 CanyH 6eH3obaka 1




DYNAMIC DEIVE EQUIFMENT

DDE (CS4518/5018
(apT.CS4518 / CS5018)

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTukyn Hansmenosaniie Kon-so | Ne ApTHRYA Hanmenonane Kon-so
1 451805001 Mpobka macnobaka B cbope ( eknovaeT 2,3) 1 13 451805013 YnnoTHeHWe macnoHacoca 1
2 451805002 |Konbuo ynnoTHUuTensHoe npobku m/baka 1 14 451805014 BuHT KpenneHust MmacnoHacoca 4*14 2
3 451805003 |lNpobka macnobaka (nycras) 1 15 451805015 Kphbllika macnoHacoca | 1
4 451805004 |Llinanr macno3abopHblia 1 16 451805016 LLlaba cuenneHun Gonbluas 1
5 451805005 |®WnbTp MacnsHbIA 1 17 451805017 Cuennexne B cbope ( Bkniovaet 18-20) 1
6 451805006 |LLInanr macnonopayu 1 18 451805018 KpecToBuHa cuenneHus 1
7 451805007 |CanyH manobaka BHYTPEHHWIA 1 19 451805019 [py3uku uennexHus 3
8 451805008 |CanyH macnobaka HapyXHbli 1 20 451805020 [pyXuHa cuenneHus 1
g 451805009 |[Konbuo cTonopHoe canyHa macnobaka 1 21 451805021 Mo WnNHUK Uronb4aTelv Yawky cuenneHuns K121514,5 1
10 451805010 [BuWHT KpenneHunA KpbilLky macnoHacoca 4*10 3 22 451805022 Yawka cuennexus 1
11 451805011 |MacnoHacoc 1 23 451805023 3eespouka segywiaa 325-7T 1
12 451805012 |YepBAk macnoHacoca 1




DYNAMIC DRIVE EQUIFMENT

DDE CS4518/5018
(apT.CS4518 / CS5018)

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTitiya Haistenonanme Kon-so | Ne ApTiRYn Hanmenonaie Kon-Bo
1 451806001 |Ynop 3ybu4aTbiin 1 20 451806020 MpyxuHa hurypHas 1 1
2 451806002 |BuHT KpenneHus ynopa 3ybuaroro 5*14 2 21 451806021 MpyxuHa dmrypHas 2 1
3 451806003 |LLiuTOK LWUMHBI 1 22 451806022 Pbl4ar MexaHnaMa Topmo3a (KOneHo) 1
4 451806004 |BuHT 4%6 1 23 451806023 LLlaitba npyxuHb! hurypHou 1 1
5 451806005 |[poknaaka nog WUWTOK LWWHBbI 1 24 451806024 Konbuo cTonopHoe 1
6 38000000033 |lawka wuHe! M3 2 25 451806025 YaapHUK Topmo3sa 1
7 451806007 |Topmos uenu B cbope (Bkniovaet 8-37) 1 26 451806026 BWHT py4Kv TopMo3a 1
8 451806008 |Kpbiwka WuHb 1 27 451806027 Koxyx mexaHuama Topmo3a 1
9 451806009 |Odamdep pe3vHOBbLIA 1 28 451806028 BUHT KoXyxa mexaHuama Topmo3sa 4*10 2
10 451806010 |BwHT HaTsxuTens 1 29 451806029 LWrudT 3*14 1
11 451806011 |Harsxurens uenu 1 30 451806030 Ynop npyxuHel TOpMO3a 1
12 451806012 |HanpaBnsoLwas BUHTA HATAXUTENA 1 31 451806031 IleHTa TopmMo3a 1
13 451806013 |LLnuToK WnHBLI Npasbiit 1 32 451806032 LUt 3*8 1
14 451806014 |JlosuTens Lienu npasbii 1 33 451806033 MpyxuHa TopMo3a OCHOBHaA 1
15 451806015 |BuHT 4*8 2 34 451806034 Bcraska npyXuHbl TOPpMO3a 1
16 451806016 |/loBuTenb Leny pesuHOBLIN 1 35 451806035 Peivar 1
17 451806017 |Pyuka Topmo3sa 1 36 451806036 KpbliluKka BUHTa pydKKn TOPMO3a 1
18 451806018 [lNpyxuHa Topmo3a manas 1 37 451806037 Kpbiwka 1
19 451806019 |KpblwKa NpyXUHBI TOPMO3a Marnon 1 38 Hakneiika 1

451806038




	фиг1
	спец1
	фиг2
	спец2
	фиг3
	спец3
	фиг4
	спец4
	фиг5
	спец5
	фиг6
	спец6

